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PART-I : COMPULSORY / I : 31famd

GENERAL STUDIES / U1 3¢9

1. frafafen s a9t & @ fFR s #
‘it 1 e’ % 9§ A S 87

1. Which of thc following -census years is
known as thc ‘Year of Great Divide’ in

India?
@ 1911 (a)‘ 1911
(b) 1921 (by 1921
(c) 1951 (c) 1951
(d) 1991 (d) 12199 18 i IO,
2. SRI method is Felated to !} 2. TWo Mo 3mge fafls waifta &
(a) wheat (a) WA el 2
(b) cotton (b) TR umbad
(c) mustard ©) L X
(d) paddy P o P (d) RS
e e e IR e
Crop Insect-pest & ﬁz
(a) Groundnut : Pod borer (a) TT‘F&'ﬁ ‘R‘ﬂ'@?r
(b) ‘Gram * Pod borer IR E S
(c) Paddy : ‘Banka .‘3;};:},:,3.{1: | (C)m:,{«“ ¥ F':ﬂ \/ {2 2
(d) Maize : Stem borer 7 d) & ?Fﬂ@i‘cﬁ ...

4. The rotation intensity of Maize-Potato-

5. Which of the followmg paxrs is

GS-C

Mung bean is
(a) 100%
(b) 200%
(c) 250%
(d) 300%

correctly matched?

ot

s

i

‘h

,-,;x “. T ATES

Lo

{50

Crop 'Vanety o
(@) Groundnut : Kaushal '
(b) Mustard ¢ Vardan ., P
() Linseed : Chamatkar |
(d) Gram :oUdai ¥u81 (1)

not

4. TE- m@%m-wﬁm%

(a) 100% 120

(b) 200% Vg el
(c) 250% fd

@ (d)o :300% tnluget 5 o ava :,: g
ﬁﬂ%ﬁﬂﬁﬁﬂﬁq-ﬂlg‘qtﬁ-@ﬁmﬁa?

wHe e

(a) Ii’l‘h?'ﬁ - 0 i PR i

(b) W @ e

(c) 3T€Rﬁ ;SRR Tl
@ ;s Swo Gl (b
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6. Which of the following diseases cannot
be cured by antibiotics?

(a) Tuberculosis )
(b) ./ Tetanus
(c) ‘Measles'

(d) Cholera

I b

7. Which of the followmg paxrs 1s

not
correctly matched? L 4
(a) Computer : Charles'Babbage
(b) Radio - 1:‘..“5;_Ka1:1!;_‘Ben‘z sl
(c) Barometer : E. Tomcelh
(d) Dynamo : Mlchael Paraday
8. The communication "s:itellites',: afe
invariably . 5
(a) revolvmg at their own sp(ied
(b) sta’uonary i s
(c) geostat1ona1"y .
(d) changxng‘_‘_thmr track and— speed
9. For which substance among ' the
following, conduct1v1ty increases with
temperature?
(a). Copper . .
(b) .Gerﬁlanium "
(c) Silver s |
(d) Iron .
10. The area of a regular.hexagon 'of side
2V3 cm is
@) ""12«/‘ it = AR
(b) 182 em 2 48
T At
e )
(d) 18V3 cm?
GS-C" |

'3t fopn < wHA?
(@) &M

(b) T

€ @

@

7 m@ﬁaﬁnmﬁ@ﬁﬁﬁﬁ?
@) wEE i T
(b) YR Fd qo Y
(o A o TN
(d) SHEAm e e

8. §9R I9UE §ed

(@) 370 T 0 o R R
b) R

©) mﬁmﬁ’%

() mqaqaaraaaaam’%%-f,

9. ﬁmﬁvxﬁaawaﬁﬁaﬁmﬁmmm%

Y TGh 27 '
; (@) ?ﬁm . I ! 2y A !
(b) SHfEm
(C) arl.-(ﬂ‘/ . .I,I, i
@ dm e
10. 243 cmwmwﬂqmg E,m] ¢
(b) l&/_ﬁ:_c_r_n2 %
() 18cm2" tauld ) |

Sutnnacn

(d) 18V3 ¢cm2,/
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11.

12.

13.

14,

If * 2x+2=3,
X

then: the ' value of

x3+i3+2 is
X

(a)

®©|w

v’

If one of the roots of the quadratic
equation 2x2 +px+4= =0 is 2 then the
other root is

(a) -2

(b) -1 | o 00
) +1 - -

(d) +2

In which State was the ﬁlilitary exercise
Vijay Prahar’ held in May 2018?

(a) Maharashtra

(b) ‘Gujarat

(c) Rajasthan

(d) Madhya Pradesh

Who has won the Women Singles Title of
Badminton in ‘Commonwealth Games,

2018?

15.

GS-C

(a) Saina Nehwal E
(b) P. V. Sindhu
© K. Gilmour ,
(d) Michelle Li -

In the World: Press Freedom Index,
2018, India is placed at

(@) 135th !

(b) 136th

() 138th i iR
(d) 137th &

11 7R 2x+2 =38, A X3+ 42 TR &

12,

L‘.": (c),';’r

X, x

(b)

®|5

[}
—

()

(d)

:ool-q oo|

AR Rad whiEw 2x2 + px+4=0 F T
oy AEm R

(a) -2

(b) -1

NN

W SRR Uiw 9 S SO b

o (d) '+2 e, TN .:.F;_

13.

14.

15.

© m

uézmsﬁ%amﬁ@w:ﬂwm oy
TR IR gan? YT

(a): m o L AT o5 R

(0 TRW
(d) T WeW
TgHEA Wd, 2018 # e | wRen A
e fra <fran 87

(@) TS

(b) fﬁoaﬁoﬁm '

(c) o freni

@) fda<h; 1

e Y9 @ qgm, 2018 ¥ WRa ®
M B

@ 1354 " L'

() 1363t

@ a3 4ty g (b
d 137a ¢ ¢ o
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16. In; which of the f‘ollowiﬁg texts, it 'is
stated that those who could not speak

Sanskrit language correctly were called
‘Mlecchas’?

(@) Shvetashvatara Upanishad
(b) Gopatha Brahmana
(c) Brihadaranyaka Upanishad

{
i

(d) Shatapatha Brahmana

17. Match List-I with List-1I-and. select the
correct answer using the codes given

below the Lists : g o}
sicList=l & g0t 68 1 dList-
(King) i) :(Spouse)
A. Chandragupta I 1. Dutta Devi
B. Samudragupta 2. Kuberanaga
C. Chandragupta II 3. Kumara Devi
D. Kumaragupta I 4. Ananta Devi
Codes : " ¥ 21O ' w4

@ A B C

(b) A

O
')

) A B. C D ..
2 4

d A B

N o

GS-C

Wﬁamwﬂwwﬁﬁﬁsﬁ
e Wwﬂaqﬁa}awﬁ R ‘s’
&gl SITdl o1

(a) g 37@7‘1'
T9e FTE

(o) FoRF ST

R

17. @—Iﬁ@-llﬁgﬁ%ﬁﬁﬁum qfe ¥

+fra e Mg e 1 I R IW AT -
Lo S Heft-11
_ () (usﬁ)
A SRR “ o Keci i
B. s 00 2. FEE
C. vz fidm 3. AR Tf
D. gHRE WM - 4 3@ 3
| .::‘.%"z':' LAl : _“
@@ A B C D
2 3 sl
) A B C D
3 2 .4 u1 ;
(c) A B C D o *‘._{."“?_
3. 1 2 g4 )
Aiatl (dy
@A B ¢ p Y
4 3 1 g dNEL N
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18.

With reference to the book Arthashastra,
which of the following statements is/are
correct?

1. It is the oldest masterpiece on
Indian Siate Policy.

2. There is no description of Mauryan

empire and administration in this
book.

Select the correct answer using the

- codes given below.

19.

20.

21.

Codes :

(a)
(b)

1 only
2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Who among the following addressed
Delhi as one of the greatest cities in the
world?

(a)
(b)
(c)
(d)

Ibn Batuta
Alberuni
Farishta
Abul Fazl

Who is known as the Fathér"',.?of India's
Local Self-Government?

(a)
(b)
(c)
(d)

Lord Lytton #
Lord Ripon
Lord Curzon

Lord Dalhousie

)

At least how many days are requlred
to give the prior notlce ‘for the
impeachment of the President of India?

(@) 7 days
(b) 14 days s
(c) 21 days

(d) 30 days

GS-C

18, sefre g % wed # fefdted A @

19,

20.

HH-91/8 F T@ B/E?

1. %mnmﬂuﬁ'«kﬁéqﬂm
Tifian I T 2

2. 30 Tw § X WEE qu1 e

F1 @ T e
$ e M 2 F WM W qE@ IR gl
F2:
(a) Fad iv”
(b) Fad 2 |
() 1 3R 23
(d Tdr1RAD2

?ﬁﬁﬁmﬁ@ﬁﬁﬁu%mmﬁﬁﬁ
T & &9 3 Faw1? |

i i
(b) SrerE e
(c) REa
(d) g F

WA ﬁ wnﬁa @n!m w E] 'umz ﬁm‘i F
m%? el gy i SR

(a) KIERNCE
(b) ?ﬁéﬁtﬂ\/ ,
(d) <7 st

P T W R W U

-a-mmﬁqeﬁqjmmw%?
7fa
(b) 14 T3
() 21fA
(d) 30 fH

(a)
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¥ TOTE B @
22. Who administers the oath of office and | 22. ¥d 3 el Tﬁq e &7 : o
secrecy to the Govermor of a State in ecipcCIRIER

India?

WZ{;{WTEE{%

(@) The President of India.

(b) . The Vice President of India

() T % I A e e
() The Chief Justice of the High Court |
of the State () T £ fyum a1 1 AL
(d) The Speaker of the Legislative 0 ) T
Assembly of the State 23, TR Gl % f 1 . T! %ﬁ by
A ) e # T o T
23. Which Part " of our  Constitution
envisages a three-tier system of (a) WM IXV
Panchayati Raj? e (b) WX
(@) Part IX o HE )
: - (c) ¥ XI
(b) Part X R ke 1 faad
SRl (d) ¥ XII
(c) Part XI
@ Partxim LT 00D o RefRea # i# g Tsa & 9 MO @
PRI S O L y ‘ !.{ij‘: %? l' a2 |
24. Which of the followmg States has no :
oil refinery? , (a) TSRT
(b) Kerala LA () ' © oHETE

(c) Chhattisgarh i (i 430 (d) ufim sTa

(d) West Bengal O
el S ATE YT

T SRS TS o8, fefiRes (D, 7, m g

25. Which of the follow1ng;rivers!"”dbes not | ' gl 8
flow in Australia? kT i
(a) Hunter River 3 ” ;: ;{1 ) Wﬁ?{ -
(b) Flinders River e ) ) TS e i !
(c) Orange River TR IR ' (c) ¥~ faan
() Gilbert River [V29%% #lid (b} (d)  Presd few
2 i o s i st s | 5080 9 o 3201
Census? | ” ‘ oh o F?a?q:: 1 7 Affafad gan %?
(a) Kerala L i
(b) Sikkim vm’_l s % (b) fiifem
(c) Nagaland WIS ) (c) rmaice. evaby [
(d) Manipur CO (d) wfrR ~ il (8

Gs-¢ 8
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27. Which of the following is the most
effective measure of population control
according to Malthus?

(@) War
(b) Disaster
(c) Birth control

(d) Social evils

28. Which of the following is nqt a biome?
(a) Desert
(b) Grassland
(c) Ecosystem

(d) Tundra
[

29. Dudhwa National Park “is’ situated -in
which of the following States?

(a) Ass'am' e

(b) Uttarakhand
(c) Rajasthan . - 6l

(d) Uttar Pradesh

30. According to the Fourth Round of
National Family Health | Survey, the
current TFR (Total Fertility Rate—
“children per woman) is

vt : fl
» PNt )

(@) 2-2
(b) 32

(c) 42

(d 4S5 o

Gs-c 9

27. 7euq & IgeR Refafen § 4 #F-w 99
SraE- P § geaifte gl 87

@) TG
(b) ST
(c) FR-Frp
@ wﬁmw

28. ﬁﬂ%f@ﬂﬂ@tﬁ‘n-mqmﬁa’mwﬁ%?
(a) Yrear ~
(b) qmwvm-.
mﬂf@maﬁ

(d) 3"3‘

29. samﬁmam%ﬁmf%@aﬁﬁﬁmmﬁ

femer

p p(@) S|, L to0n adng Bpt (!

dHOEF Vet a SR p s 1)) 1

(b) STWRETS
(c) Wﬂ?

(d) IW I

30. THY WRER WRed waEq ¥ g W &
! IgER, 9@H A fo Tho ‘AR (FA W

— 7% o ) &

(@) 22

() 32 c
@ 42 i

o a5 e’ 1)

[ P.T.O.
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31. If 6 is real, then
(a) cos(i6)=icosh6
(b) sin(i)=isinhb. . . ..
(c) tan(if)= tanh?

(d) cot(iB)=icoth8

32. If 2=x+iy, where i= J— then

z+

represents a circle, whose centre and

radius, respectively,:are: =i o
@ (50,5
(®) 50,2
© (50,3

@ 504

33. If (#1) is a cube root of umty, then the

value of {(1- 0+ ©%)2 +(1+ 0-02)° - 32} is
(@) O

(b) -32

(¢ 32

(d) -64

34. The value of Jf’o—:ﬁ is
(8) 2+i L2
(b) 1+i
(c) 1-i
@ 2-i Mg

/17-C

3=2

10

PART-II : MATHEMATICS / STI-II : Tt

31, R o arfe &,

32.gf¢ z_x+zy,

33.

34,

(a) cos(i®)= icosh®
(b) sin(i6)= isinh@
'(;:) tan(i6) = tanh6~"

(d) cot(iB)=icoth6

22
z+3

T T4 el W e, ﬁwﬁsﬁtﬁqﬁ

frean €, s

(@) (50,5

(b) (-5,0),2

(¢ (-50),3

(d) (-s 0,4,
af%m(ﬂ)wémwgaa’t ?ﬁ

{1- m+m2)5 +(1+w- m2)5 432}
WA ¢

(@ O
(b) -32

(c) .:32 .

(d)' =64

Ja’—‘aﬁmnﬁré
(a) 2+i
(b) 1+i
(© 1-i

(d) 2-i
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35. If cos(x +iy)=cose. +isina, then the value

of (cosh 2y+cos2x) is
(a) 1
(b) 2
() -2

@ 2

36. The three c111be rooté 6f z=—81 are
() 2i, -v3-i,V3-i

(b) =20, -V3-1,y3-i,

© 2, -v3-i,¥3+i7 . .

(@) 2i, V3-i, -3 +i

Ay

37. If Im[ ik ):-4, then the locus of z is |
2z+1 ; "
(a) an ellipse
(b) a parabola o
(c) a straight line (,' o
Bt
(d) a circle

38.If f(2)= (x +ay )+lbxy is a complex

analytic function: of z.qx+:y. then the /|

value of a+b.is

35 ?Iﬁ.‘ cos(x +iy) =cosa +isina, a

' (cosh 2y+cos 2x)
m
R
b) 2
@ 25
() V2

36. z=-8i F I T &
| (a) 2, 4«/3-:'_,\(5—::'
(b) -2i, -«/3'—1«/3-{:
(c) 2i,—«/§—i,~}§;£ |

(d) 2i, V3 li,_:,:ﬁ_ a}',i to o

37. ﬂﬁIm(:az )=—4ﬁ 4l z'ﬂﬁ@ﬂi’

(a) @ﬂffqﬂ

(b) T v
© TEEE i
@ T R

LR |
. 88, 3R F(@=(x2 +ay?) 4ibxy, z=x +iy F, T
i Al e W A arbFARR

r f .@), ‘0__' il 1

w1 : [ Bl Lo o sy o,

@ -l ' | f (@ -1

@ 2 ST I |
/117-C dil |

[P.T:0.
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39. Which: one of the following is false?
(@) f(2)=Z is nowhere analytic.
(b) f(z)=22 is analytic everywhere.

© fi@=|z?

is analytic at z=0.

(d) f(z)=e? is analytic everywhere.

40. For zeC, the inequality |[z+1|>|z-i]| is
(a) always true
(b) never frue
(c)

true for Rez>0

(d) true for Imz>0 |

>

41. The value of J dx 13
314+3%
1
1 Ly
(b) =
© 3
d 9

F
]
/!

-2k

’ e

42. The area bounded by the curves y-smx
Y=cosx.and y-axis is: :

@) 2+1 W IU
-1 ‘ |
262-1)

V2+1
2

(b)

(©)

(d)

/17-C

\

12

g0, R & w1 T e &
@) flo=7 7 AT E

b flg=22 w1 Fle B
© =zl z=0 A 81

(@) flo=e® ¥ ATHIE 21

40. zec%mmﬁmmﬂpm i|2
(a) Eﬁmw
(b) - Fft oft T T
() Rez>0% fou @
(d) Imz>0% foTw g

<

2
dx 1A ©
31+3%

41.

_(a) i

(b)

O | =~

(c) 3

d) 9
{It

1. 42. Tl y=sinx, Y=cosx: 3’n'( y-WW ”“i:
BR LKk Y

V2+1
V2-1
2(W2-1)

V2+1
2 § g

(a)
(b)

(c)

(d)
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43, If ljm Yextb-3
X2 x%-2
a, b will be

hen the value of

E
2)

(@ a=b=3
(b)
(c)

(d)

a#b &

a=0,b=4
a=2,b=1

44. Consider the following statements :

I.  y=|x|is differentiable at x=0.

II.  y=x|x|is differentiable éverywhere.

Which of the above statements is/are |

»

true?
(a)
(b)
(c)
(d)

If l=wﬂx2 +y2 +22, then-

u

Only IV~
Only II
Both I and 1II

Neither I nor Il

45.

is equal to
(a)
(b)
(c)
(d)

0
2u
-u

u2

The differential equation ‘of the straight’
lines at a fixed distance p from the origin!
is ;

@ (-y?=p° 1ty

46.

2) ¥

b) (xy+y?=p3(+y?-

.}_2) .

¢

© (e-yy)2=p?(+

@ (x+yy)?=p%1+y?)

/17-C

13

' : -3
43. 7R lim YXFTD-3.
x-2 . x-2

B

Ia @
2

a, b"ﬂ"m

a=b

(a) 3
(b)
(c)
@
44, FiefRea Fel W faam A -
L

a#lb
a=0,b=4

a=2,b=1

y=|x|, x=0 W aHTY 8
. y=x|x|qaA FaFHA B
3T Forl 4 F-H1/Q T R/
(@) HadI

(b) & II

(c) I13MII Mt

d ANLAAD

45.ﬂﬁl=\/x2+'y2+22,.?ﬁ |

TR 3
(@ O
(b) 2u
(c) -u

2

d u

" do. g 3 frm g p v s 1 v
' kipicze S

Gt

@ gty
®) (' +y?=p2n+y?
© -yy)2=p20+y?)

@ (x+yy)?=p2(1+ v

[ P.T.O..
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, 47..The solution of the differeﬁtial,equation 417. syl G

dy
_dy_ (o dy) - - fiﬁ:a(y2 +-‘J
4 xa‘“(y dx I ax ax
is FE R
(@) (x+a)(l-ay)=cy P (a) (x+a)(1—ay)=cy\/
(b) (x+a)(l+ay)=cy" | (b) (x+a)(l+ay)=cy
(© (x+a)l+ay)=cx ! (c) (x+a)(l+ay)=cx
d) (y+a)l+ax)=cy ‘" (d) (y+allt+ax)=cy
48. The value of ¢ in Lagrange’s mean value | 48, [1, 2] ¥ f(x)=x(x—1) * ‘R’T‘Z T MR
theorem for f(x)=x(x~1) in [1, 2] is I cHAT S -
5 5
(@) 3 . (a) 7y
b} = IR L P~
o) , b
7 7
.2 © 7
9 9
d = d =
(d) ) (d) )
49. If Fo w8 . 49, 7R
x=a(cost+tsint)” | 2 | x=a(cost+tsint)
y= a(sint—tcost) it - : y a(smt tcost)
24 ,
then the value of gaUs is @ d giﬂﬂﬂ%
dx? dx
(a) ! sec3t (a) isec3.t
a {7 : &
(b) atsec3t ‘ uf 1 | " (b) atsec3t
' 3 - 3
(© 1sec™t D (© 1sec™t
a t % i a t
3 o e} '. 4 3

50. If lim xsin}—=A and. li‘rh'xsml—B, 3 SO.Hﬁ lim xsm—_A 3fR lim xsm-—=B%

x=0 X . Lo X=eey (X | x50 x| o X—00
then which of the foﬁong is true? . Aaf=dy a?m.m T -'g? ’\’*«‘
() A=B=0 et (6 ! (@) A=B=0u Swh)
(b) A=0and B=c ol i ! (b) A= Oaﬁ'(B_“ o
() A=land B=eo () A= 13 B oo
@ A=0and B=1 "o O g A ospay o D

/17-C 14
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51. The solution of the differential equation
dy
(x+2y3 - =Y, 0)=
1 =Y YO0=1
is
(@) x+y-y3=0

) x-y+yd=0v~

(€) -x+2y-2y3=0

(d x+2y-2y3=0

1
i) x
/_Wlxm

u_’o ex +1

(@ -1
(b) v

is equal to

(C] 0 '.':I e ,;‘

(d) 2
“{\Weor n"ﬁ
ﬂ53 *’I'ITé function
w"“'

- 0(x)=(x—a)™(x=b)"

satisfies the conditions - of Rolle’s

theorem, when .
P
) ]

m, n are positive:integers

(a)
(b)\/ m, n are positive -integers anda<b

a<b

(c)

(d) ;m>n

Let f:R>Rbea dlfferenflable function
such that f (x2) 4xv —1 for x>O and
f()=1 Then f@)is:

54,

(a) 64 7
(b)
(c)

(d)

30 )
42 ;

28 : {4

/17-C

15

51. Jgshd iR

52.

53.

54.

()

(x+2y3 )——y, y(0)=1

T &

(a) x+y—y3=0

(b) x-y+y3=0

(© -x+2y-2i3=0
x+2y-2i2 =

(d) x+2y-2y3=0

lim e;_lw%

x0" g% 4]

(@ -1

(b) 18 ! :

(c) O -

d 2

00 =(x-a)™(x-b)"
el o Wi <1 T ) WG H % =ch

@ madEd
(b) m, n ¥ QUIF & a4 a<b
() a<b “*-\;-L |
@ m>n Pt

miﬁhﬁmf R—)R'{ﬂ?m‘?ﬂﬂ?ﬂ
THR & B o2 )*&4, x>o%i%m

AR f)=179 L @R

(a) 64
(b) 30
42

) 28 0

[ P.T.0;
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N

toinfinity

55. Ify=x":’r dy

, then x—=is equal to
dx

y2

(@) ———
y-xloge x

2
(b) Y

x—yloge x

2
@ —Y

1-yloge x

2
q —4
Yloge x -1

56. If x=t, y=loge(cost), tE[O, 45], then the

5 lrae\2 (ay)2 ., .
alue of |% .| — b4 s
value o E (dt) +(dtJ dtis

(a) loge(v2+1)
() logeW2-1)
(©) +2logeW2+1)
(d) V2loge(W2-1).

:57. The value of

. llm [L*..i-:{-:---{-—l-}
n—oeln+l n+2° 0 6n) L

is S
@ oV
(b) loge2
(c) loge3

+(d) loge6

58. lim (1+sing]n is equal to/!t i/

n—ee n
() e
(b)~ €2
(© e

(d ©

/17-C | 16

3T T

55. 7R y=x*"

56.

2
(a) poid

y-xlogex

y2

x-ylogex

S

(b)

2
(c) el

1-yloge x

d —y2_
2 yloge x-1

R x=t, y=loge(cost),\ te[O,E], K|

x 2 2 N
s (E) +(‘_1é‘) dt 1 A ¥
0 V\at dt

(@) logg(2+1])
(b) logelWZ-1)

| (€) v2logeW2+1)

57.

(d)  V2logeW2-1)

i [ 1 1
m | —+—-+
n—ee{n+l.n+2:

s (a] 0

' B8,

(b) loge2
(c) loge3
(d) loge6

—
@) e
(b) ea
() e2a

d o

' .. _. a. n
lim (1+s1n-] WMER e . : J
n ) i

,?ﬁx@m%
dx

4

‘I 6n

'~
LV

e,

i
e
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59. The value of J'loooex_lx] dx is
0 0
@ 00
1000
e -1
B, &=— &
(b) -
(c) 1000(e-)
d) e-1
1000

60. The value of Ixzexdx is

(a)

(b) (x2+2)eX +c

2e* +c

© (x2+2x+2eX +c

(d) (x2-2x+2eX+c¥

61. The value of . Xx N
. b T
@) 5

n

(b) 7

T

() ':;

n

(d) 3

1 :
62. Ifu=(x2 +y2)7 and x3 +y3 +3axy= 5a?,

du :
th lue of — at (a, q) is
then the va o ( ! )

(a)
(b) a2
(c)
(d)

a

3a2

None of the above

/17-C
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50. ';oooe"?l"] o 1 TH ¥
(a) €!000_4

b 1000 _;
e-1

(c) 1000(e-Y)w

e-1
1000

(d

60. j x2e* dx 1 HH &
@) 2e* +c .
(b) (x2 +'2)ex e
© (x2+2x+2eX re

(A (x%-2x+2e* +c

6, e

o xde  Samd
0 (1+x)(1+x2)

iila) ©

(ST

(b)

|3

(c)

wla .
~

n
z d =t
@
1
62. Ilﬁ.’ u=(x2+y2)5 e x3+y3+3a.xy=5a2
%,aa(a,a)qz'%mm% |

(@)
(b) a2

(¢) 3a2

(d) 3w & A T

a

[ P.T.O.
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W‘f-ﬁ_?ﬁf solution of the differential equation 63. 3Taehc mﬂm__? (el l, ..
o '—-'5' _ dxl= X|<L)y<]
Z V1-x?dy+f1}yav=0 (1x|<1 <) Py f1- ’

— - LT T

is | 1 T T ¢
ot - T2
@ xy1-g?+yll-x2=c = @ x - +ul1-x% =e
(b) xsin~!y+ysin~lx=c (b) xsin’1y+ysin—1x=0
2 2 ' 2
(c) - d 2+ ‘,y 2=C (c) ____2——+-——__' =c
-2 - Ti-x? =42
d) xV1-x2+yfl-y2=c . ¢+ . | 2 T 0
(d) wi-y bt ety B @) xVl-x2+y1-y%=c !
64. If u—logx3+y3 then "'tiuef value of 3,..3 3 3 a
; = ; u, du
. Xty . _ —logX Y _ @& x—+y— FARR
%+ du . o s ) 64. e u=log o B oy
ox yay 1
' (o) (a) u
(@) u b
(b) 2 1% i)
b 2
(¢ O
T Y (. (d) u+l
d) u+l R i E Y .
65. If x+2y=8, then the max;mum value of 65. s xR 1 SIS A &
xy is BN " (a) 20
2
(a) 20 . (b) 16
(b) 16 w .
() 24 @ 8
@ 8v’ - ,
'f s 66. % x=qa(0+sinb), y= Iy
66. The equation of the tangent at ‘9% to | (+5in8), y=a(l+cosd) F 6=
’ & ] -F“Jf_ &
the curve x=a(0+sinb), y=a(l+cosH) is e 5 o @
Lo d® TN g oo (@ x- =a(£+ ) o
(@ x y—a(§+2)ﬂr ¥ =1 A LS TNE 2y y 5 2 | i
an ..“ .. & 4} ‘-.' , ) \ an r
b) x-y=— (b) x-y=="
(b) Y= i y 2
_-EITI h ! I- {’
@ x+y=7 ; @ xry=2
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67. The area bounded. by the -curves 67. Th y=|x|-1 9 y=—|x|+1 A fiR &7 #
y=|x|-1and y=-|x|+1is i !

(@ 1 , (@) 1
22 () 22
(d) 4 d 4
68. The slope of the tang;;:_lt3 at the point 68. fxdt % & P‘F\?a P(x, y) ® Td-X@ H yaurEn
P(x, y) on a curve is —x—+3. If the curve _y+123 2 7R 7% ‘iﬂﬁ?g 3 TR %, A TF
’ . x+ a
passes through the origin, then the g —
equation of the curve is
(@) xy+2y+3x=0 ' " (a) xy+2y+3x=0
(b) x2-y2+2x-3y=0 (b) x2-y?+2x-3y=0
() xy+6x=0 (¢) xy+6x=0
(d) xy-2y+3x=0 : (d) xy-2y+3x=0
69. If y(x) is a solution of the dlfferentlal 69. e y(x), aFa gl
equation - @ +2xy X, y(O) 0
dy o dx

—+2=x,Y(0)=0. .
dx” e e T T, o lim gt

then lim y(x) is . X—o0
X—doo el Lengy ) l
MELLaE
2 |
| (b) -1
(b) -1 .
1 (€ =~/
(c) 5 2
@ 1 | g =1
: o I (2+smx) dy ‘
: FMT ————| —=|=~-cosX,
70. If y=y(x) and* %(g)i—cou; 70 qﬁ y y(x] AT [dx]
y(0)=1, then y(g] is‘equal’to . -.3:I- (0) 1L ?h y[ ) %
(@ 1 e (a) 1
T 2 ‘
(b) % B
I 11-.
© -= © -3
be
@ 5 @ 3
/17-C 19 ‘ [ P.T:O.
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| A 9R 15 T o R) ARy
. 71..The mean weight of 9 items is 15 kg If 71..9 Eﬂ@e’ﬁ :i:.-[g 3, a1 7 ¥R 16 %a Mo A
I, one. more item is added the ;mean N 9% 7 91 %
' 2@ 1081 %
weight becomes 16 kg. Then the welght Sl
of the 10th item is | ‘ (a}\/és o Ulo
((:)) 23 tg Tl (b) 30 fHe e
(c) 25 kg L () 25 fepe 7O
g i1 (d 00 feo 7o .
@ 20 kg e B 4
s | 9% fivid 73R A= P(B)__ AR P[AnB]_
.72, If P(A)=—, P(B} = a.nd P(A B]—— / R .
: 'em qH
then P(A/B) is # @ P(A/B)
3 @
(a) 8 e 8
: 11
11 1 gy 4 falied
b == o (b)
(b) 8 8
7 _. : | * (o) 7
(c) g Fei (st 8
3 BRI (g o0 S Ienugyd
(d) 8 . . (AL s drhge ¥ “ ( ] 8
783. A coin is thrown 6 times. The probability | 73, T fd H 6 TR IBTEd %I Bﬁﬁ_‘fm Fﬁ‘i 'Sm it
of getting exactly four heads is R A rfireRe & =
(a) 7 (a) Z \ . \
3 3 . i ‘
b) = ' A
5 .
—_ ' 5
© T& Nt (c) o
15 i
d) = T 0
64 , _( ) =

.74, A bag Contains! '8 red and: 5 white balls @
Three ‘balls ‘are drawn at random. The | 7% %A 8 W v s “HeFi W g @_"W
probability that-one: ball is red and [ T 3R fFrereh s %] m RIGH a:fr( 3‘1 e ﬁa |

two balls are white, is mﬁmﬁm % } o
(b) % r @ | i %06
e 2—19% e " l (©) :215%
O s S PR
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75. The mean of 1, 3, 4, S, 7, 4 is;n. The

numbers 3, 2, 2, 4, 3, p, 3 have mean
n-1and median g. Then p+qis

(@) 6
(b) 4
(© 7
d 5

R
vid

whose

76.1f a hyperbola, parametrlc

equations are x= ct y—?, meéts any

circle with centre at (0, 0) in four points,
determined by the parametric values
t, to, t3 and tg4, then the value of
ty -ty tz -ty is

(@) c2

(b) -c?

e - " : sl

¢ Ta, )

=

77. The product of the perpendiculars

drawn from the foci of .an, ellipse

x2 2
—5 +-‘9-5-1 on any tangent to 1t is
g™ b Lkt +of J aty”
2 1 galold ~ 6
{a’ a b'lm -\-16‘3.%
"L
= f'-—-f/‘
2 'J‘ﬁ\"’/c)vf‘;‘ a '3‘
() -1
Mibun®..
@ 2 = e
=
78. Let y=mx+c be the equation of normal
to the parabola y =4ax at (amz, __-2am)
Then c is:equal to /
a-d
(&) am® O S0 18- ﬂ_
’ r
(b) 2am+am3 i q
(C] 2am+am3 W R T TN
(d) -'2am"ﬂm3 i {:‘
/17-C ' 21

75. 1, 3,.4,.5, 7, 4 % WA n & FE&A 3, 2,
2, 4, 3, p, 3 %1 W n— 17 TR A

g1 pra?

(a) 6w

(b) 4

(¢ 7

(d 5
76“1&@31‘%‘5(@?1?1 oy el @
C x=d, y--‘é 3 (0, 0) T el 79 R

ﬁ—aimﬁﬁaﬂ ﬁqﬂamaamtl,tz,
ty 3Nty ¥ fidita %, ﬁfiﬁﬁn%
ti-totz-tg FMAAE

() ¢ _
(B] -c? 0f = Sy

T

(d) 1 y R ERLAT ar

_.2.+_..1ﬁmﬁm‘iﬁsaﬁﬁﬁwﬂ
a

77. SHgw 2
mﬁmsﬁma@rﬂm%
B, AN
(b) b2
(€ -1
d 2

78. W1 y=mx+c, WA y2= 4ax%aﬁ3

(am,,—2am) ‘R W CoF Wﬁaﬁt"l 2l @l
"‘i‘cauat% 3

af 1) {,f
@) am3 e g o S
(b) ;2am+ami__j e
(c) 2am+am®. .
: 3

(d). fgam—-gm.i & B

[ P.T.0.
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P

N

‘\ 80‘

79. If the sum of the slopes of the lines
x2—21xy—7y2=0 is four 'times their
product, then the value of A is

The distance between the foci of .a
hyperbola is 16 units and its eccentricity
is +2. Its equation is \

(8) x2-y%=32

(b) 2x2-y?=32

(€ x2-2y%=32 &t

M) 3x2—3y2=32 b i
For what valuea o &, the e Gokss2!

will be tangent to the,. conic
4x2—9y2=36? :

81.

*

(a)

(b)

+

» 0| O Wl
o “[%-

I+

(c)
(d)

The' locus of “the centres . of ~(;ircles,;
that passes through the origin and cuts
off a length 6 from the line y=4, is

s P

R f

82.

@) x2-8y+25=0

(b)

(c)
(d)

x2-8y-25=0

x? +8y-25=0

None of the above '

/17-C | 22

i ',[b) \ilgﬁ A .J

R Y@ (2 ~2hxy-Ty* =0 N Tawgy
a1 i 5% e T Wy
A

79.

(d)

el e F A F AR g
”ﬁ%ﬁwwﬁﬁmu@am
TR

8 x?-y?=32
(b) 2x2-y?=32
(©) x2-2y%2=32

(d) 3x2-3y%=32

k& 6 9 & T @ y=kx+2, T8
4x2 ~9y? =36 H wd-t@r gnfi?

81.

2

" (a) 13

oy o b {
louined me
"'-4_-,':1 W

(&

T 8
(c)... k=
'i:);":—;g R ’J

. (d) 9 ii‘g
iy 3

v

2.7 & 35 g, S e @

: ?Wﬁﬁ1y=4ﬂtsvmm§amana;aigmm;;

LB %2 gyia5
Lo

| .(6)";52

_By“25=0
© x?+8y-95-0" 5w

() mﬁiﬁﬁﬁiﬁrﬁqﬁ . i
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83. The image of the point (3,5,7) in the
plane 2x+y+2=6 is

@ (513
(b) (5-1 3
© (5L-3
d) (=513

84. The direction cosines of a line segment

whose projections on the coordinate
axes are -6, 3 2, are

632
(a) _7)_-
77

(b)

N o
N w

C
7

6 3
c) — ——
€ Zv=o

1R )

| (d) None of the above

85. If the lines e
J§~2 = yv—3' =.,z_,—‘4 -and .. L.
3 . 4 % % 5 AL T ’ e )
x=1 y#2-Z2HaNN
iq. . 37, A
1 ‘ | ‘,-. -“.' “:";)Ij
are coplanar, then a is equal to

e 1y
' Wy

(@ 1
" gt 1A
(b) 2
(c) 3 Th
| | * o
@ 4
86. The length of perpcndlcular from (1 2, 3).
the' line 76 Y=T.2=d o
to'the'lin .3 2 el
(a) 3 tfn‘.‘, {14)
© 7 s (o}
ARSI B
(d 20 L

/17-C 28

83. §AdA 2x+y+z=6 H Tag (357) <l
iefera &

@ (513
(b) (5-1,3
© 51-3
@ 513

84.  Ya@rave, ey REmE wEl W 9d
-6,3,2%, i RgFrad &

6

(@) ":/:
» 832

6 32

(c) ? —:7', 7

« Gﬂé?ﬁ #} 0 T
85. a2 Yart

X520y 3 ¥2=54

B’ .4 75 :
o J!",:’EF:.‘, i “ x;f.l.'_.y—i2 . 2T 3 o
. a 3 4
waﬁﬂu’é @ aw% i
@ 1
(b) 2 o
© '3
enld 'r(c,l)-,'.'.‘q"f'-'lz'- v dady Ty etE 35
86. (1,2, 33 Y@ X =0, y;?__z_;mmﬁm
| 'ﬁmﬁaﬁﬁ% e
@ 3 fos e
(b) V17 et 5y 8)
(© 7 gt A
@ J20 (o it
[ P.T.O:
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87.

88.

89.

90.

/17-C

If coso, cosP, cosy are the direction

cosines of a straight line, then
2

(sin u+sin2[3+sin2 Y)
is equal to

(@ O

(b) 1

() 3

d 2

The radius of the sphere

x2+y2+22—x—y—z=0

is

d V3
The conic
5x2 - 6xy+5y2 +26x-22y+29=0

represeqts
(a)
(b)
(c)
(d) an ellipse S

a circle
a parabola

a hyperbola

The coordinates of the point, where the
line

x=2 y+3 z-1":

sl e, . 0B

intersects the plane 2x+ _i)+z=7, Iére
(@ @1-7
(b) (7,-1,2
(¢ (L, -2,7 )
d @ -71

24

g7.afe cosa, cosp, cosy TP @ W@ H

88.

89.

90.

[

fegmreand &, @@
(sin 20, +sin23+3in27)
TR
@ 0Y
(b) 1
(c) 3
(d 2
,ﬁmx2+y2+22_x_y—z=0ﬁﬁm%

(a)

N |

=

(b)

N | o

(c)

@

(d)
NG
5x2 - 6xy+ 5y2 +26x 22y +29=0
Frefim Fem &
@) @I
(b) T T
) T sfwaen
(d) T <ega
I forg, =l Y@

X-2_ y+3 z-1

_E———
P —

_l 1 6

@ 1, -7
d) (7, -1,9
© -2 7
@ @ -7

PO

'ﬂm 2%x+y+2=7 - 'Slﬁlﬁ?ﬂ m _..E-',:

i
|
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91. If A is a 3x3 non-singular matrix, then | 91. 9 A T 3x3 A TR g

<~ detfadj 4) is equal to. e/"éj det (adj A) TR B
A ¥z
(a) 2 det A Q“"/ (a) 2 det A
(b) 3 det A
(b) 3 det A

2
e
92. The composite mapping f o g of the maps
f: R->R, flx)=sinx
g:R—R, g(x)=x2 !

92. Jafem
fiR>R, flx)=sinx
g:R->R, g(x=x?

\ 2 ._ : ‘.2:3,“% Erp ot « e foga’-f:n:,% _l

(a) sinx+x

is

(a) sinx + x2
(b) sin(x?) . -
(b) sin(x?)
(©) (sinx)?

(c) (sinx)2

sinx
d) e
. x? @ sinx .
1 TR i TS LE e 1 G 1x2 1 FOARRT R
93. A square matrix P satisfies pP2=]-P. T
n i ) 4 T4 . ] I i ‘:I .. .
If P —SI SP, then n is egual to ” / 03, .q'q; aﬁ w P, P2=I""P qﬁm Hl %l
(a) 4 L e SRR IR P =51 8P, T n K ¢ r
(b) S . (a) 4
© 6 i e | (b) S
@ 7 SRR A © 6
94. The number of solutions of _ . . | .0 .{d) (T
' lo x—lj:logQ(x—VS) el ' o Qe P8 ¥ AL O E
5 oy AW 94, log 4(x- 1) =logo(x~3) % Tal I F&A
is : i P8
(@) 2
() 2 va ; ) 9
5, i ? ) 3
(b) 3 | o
_ - | ] ! Lo
€ 1 . (c) | _
8 {55 d O ' il
25 [ P.T.0.
/17-C '
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95. The eigenvah.ms of the matrix : 95, e e Jpid | it
0 & & FEW 1 D&% .
are f .- L *% afﬂ?n&?f&fzﬁ (;qrgﬁ:[) AT &
(@ ahg i @ ahg
(b) agc Citdat) U b) @ g¢
© ahc T ) ahc X
d ab,ec O St ; d abc”

96. A cyclic group having only. one generator 96.

can have at most FH &
: (a)- 1 element .. »i: . >}'t‘$}[’m (a) 1 3M@3d n
(b) 2 elements i 0 (b) 2 95

(c) 3 elements | : (c) 3 {4

(d 4 elements Y 4 (d) 4 4994

(fj,Sb 7. Every diagonal element "of a skew- | 97. T - awags = ToF A
\&°

symmetric matrix is - Wgﬁl% iR i) E2
() Fzero . L =8 A E D gy ed (a) ‘«’E’J i
B wniy ) T §
(c) non-zero :I ‘} (c) SNQ ’ {“\’
(d) purely imaginary .h (d) Y& Feuls (,b;
” Ziiaé’fﬁtffzf Bdaeors. - o = m '%x '?f,s_lx|+4 0% mm#@
@ 4 ,- o @)* 4 _ ' 2
B 2 s | w2 o g
() 1 | (© 1
(@ O C (8 ‘ @ o
J17-C 26
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99. The sum of the infinite series

te’s 99, 3rq At -
2fidltiorzet 2272732724653
1S - %
@) |2
3 ® @ |2
1
b —
) |3 L ot I
|
i © 3

@ 3 S | (d)'E

100. The sum of three numbers' 1ﬁ arithmetic |

' 100; TR AQ H T wemad w1 A 51°% T
progressionis 51 and the product of first |

and third terms is 273. The common | ' g:;r ;z[a H?;nqu?aﬂ 2 W 273 %J w
difference of this progressmn is ' 1
@ 5 pEhl o M N By e Sl
(b) 4 : - ; | . I 4l ). 4'/ : i !
o 8 al (c)'-‘ 3 2 o ot
d 6 TN T ; d 6 |
101. The héirmonic mean of two m{.lmbers 101. 3 371 1 T MeA 4 gk Bﬁ;}m

is 4. If their arithmetic mean A and fi I g aq;:' J ililiﬁ‘(a[mwﬁl G, %WIUT
geometnc mean G satisfy the equat1on 4 2A+G? =27 1 FgE A §, d 3%
2A+G =27, then the numbex_‘s are

(@) 1,3 " | b 1,4
(b} 1, 4 1t o | T -
© 3,6 ; ) - @ Gﬁ?ﬁﬂﬁﬂﬁfqﬁ

he above
) Noneofteaéfe | 1027 TG A GBIk 3 ee %, R

102. Let A be a 3% 3 matrix w1th c1genvalues f Hﬁlﬁ'{ﬁ?ﬂ? (3mgm) T 1 -1,0: £ e
], -1,0. Then the value of |I+A1°0[ is || [+a%0) = AR Wy

L4l {
@ 6 TR L
0) 8 (b) 8
b A 1gt ey 27 2

(c) 27 . I [ (C). &

- S ‘(@) 100 ¢k
(d) 100 X -

27" ' [ P.T.O.

/17-C
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\¢

103. Let G be a group with identity element e.
Let aq,beG be such that ;a-s =e and

aba~!=b2. Then o(b) is |
(a) 17
(b) 23
() 29

d 31 : 2 g
) A
&> 104. Every square matrix can be expressed
as it

(a) a Hermitian matrix = ' .
(b) a skew-symmetric matrix

- /le)

sum of  symmetric and skew-
..symmetnc matnces; 5 3

(d) None of the abovere ]

105. The sum of the infinite serieé' -
1 1+2 1+2+3 1+2+3+4 oo

L B 4 5
is
(a) 25_' N & 5 i
(b) 3e (WPl
3e
() 7
e
(d) 5

106. The characteristic roots of the matnx
N
@ 1,6
(b) -1,6
() -1,-6

d 1, -6

/17-C 28

105. 3= Avft

i S € % A G
103. %mﬁm ¥ a, beG T TR § fi

45 = e aba”" —p2. T olb) ¥

@) 17 E

(b) 23

)|
© 29 T

(d 31 |
104.9ﬁ$a‘fﬂﬁﬁﬁmmwm%

@) T e o A
(c) mﬁaﬁmﬁmwﬁam%!ﬂnjﬁ_
g £ |

@ wﬁﬁﬁ%ﬁ‘é%"f

1 1+2 1+2+3 1+2+3+4

—+ + + +

2 3 4 1S
1 ATHd B

(a) 2e

frids 1 pest] LS ELNI PRl #

.

U

(€ =

b) -1, 6

(@ 1, -6


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

107. For square matrices A and B, which of | 107. 9 37 A @ B % fg fim # & FH-W
/// the following is true? g !

(@) (AB)'=A'B’ (@) (AB)'=A'B’

/ ,
(b) (A+B)'=A"+p"”

(© (ag~1=a"1p"1

(b) (A+B)'=A’+B’
(c) (AB~1=4-1p-1

@) urB-alep! @ a+pt=alsp]

108. The characteristic roots of a Hermitian 103 wgﬁa aTlag!?}? Jﬁmﬁf&ﬁ'&?{ﬁaﬁ

// matrix are
(@) real (a) ”EEII l g
(b) purely imaginary (b) W his l“'
(c) complex numbers ." (c] “ﬁ"”@ﬂﬁ
(d) None of the above ‘ (@) ”iiﬁ- ﬁﬁﬁqﬁ
1 2--3. 4 _
109. The generator/generators of the cyclic | 109 T TR {a,-a. »a ,a/-a—e} ﬁ/% SR
group {a, a2, a°, a* =e) 1s/are - 3R ' '
b) a2 ' | (b) a2
(© a*, a2 i © a* a?
d) q a o (d) a,.a3
110. The value of the determinant | 110. LS
4311 .6 ; 43 1 6
35 7 4| _ 35 7 4
17" 3 2 by i 17 3 2
is 1 AA @
(a) O (a) 0
(b) 56 = | (b) 56
|
© 756 - © 756
(d) 964 (d) 964

17 29 [“P.T.O.
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b

111. If the maximum and minimum values:of

(a) 13, 12
(b). 12, 13
() 14, 13
(d) 13, 14
112. The sum of the series ,
{72+ 70468+ 405t i
.y
is
B
: >
\fa] 950 'Jr"@)
(b) 952 = i
R=rar 0D
(©) 954 ds =R AN~
(d) 956 M 7
113. Given that the set Z of integers forms a |

114.

/17-C

(5+6cosB+2co0s26) satisfy the quadratic
equation x2- px+q=2, then p, q are
respectively

group under the binary operahon ¥,
defined by :

axb=a+b+1; a, beZ
The inverse of -2 in the group is
@ 2
(b) 4 5
© -2 L
@. 0 T

The sum of first ten terms of the series
1 1 1 ; Yook

21 77:165

is

@ — !

129

20 }

b)) — .
(b) 159 |
30 |
129 ‘

40

@ 5

30

2c0s29) a; SHUHT
111, 43 (SJF?C‘;;’:I;WCO x2 - px+q= 23}1

%ﬂm%ﬁﬁp,qim' ;
@ 18, 12 ;
(b) 12 13 i
(© 14,13 E
e i
112, 39 72470+ 68 +---+40 FI T & r.}j
" (a) 950 \5
(b) 952 H;
() 954 e
(d) 956 ol

113.ﬁmw%ﬁgﬁ$maﬁmmz; :
R-anerd afsrmn + , Pk

a*b=a+b+1; a, beZ

T SR R, %aﬁéﬁ@mm%l'w:
W # -2 %1 WioeA B :

(@) 2
(b) 4
(c) -2
d o

7}

114, . o (ol
//_l’i‘i-}-i

21077 1657,

9 70 W3 7 g 3

(a) -lg,.
129

(b) 20
129

(¢ 390
129

@ X
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115. The condition that the equations

116.

ax? +bx+c=0, a'x? +b'x+¢'=0

have a common root is J
(a) (bc’—b'c)2=(ca’—c’a)(ab'—a'b)
(b) (ab'-a'b)2=(ca'—c’a)(bc'—b;c)
(© (ca’-c’a)? =(be’~b'c)(ab’~a’b)

(d) None of the above |

S

The value of p for Whlch the sum of the

squares of the roots'of the equation
x? -(p-2x-p+1=0i-

is minimum, will.be*

(@ O :
(b 1
() 2 FHilad T AT (9w T .
(d) ‘3 FEnE-f N
117. The domain of the function
Lt e log (X +8) i 4
P [T
: X S+ 3XH2T 5
is R W HTF
(a) R—{_li —2} ! I'.' 'l.';:
(b) (_2’ °°) "
(© R-{1-2, -3} "
@ 3-f1-2 "
118. Let * be a blnary"bi\)ératﬂicriﬁ defined on
the set of positive ratlonal numbers QJr
H 14 "
by the rule a*b=—§b- Va beo+ Then
the 1nverse of 4*6 is
9
@ 3
2
b)) —
B 3 1
3
€ 3
3 ’
d -
d 7

31

/17-C

115, gHi -

11e.

117,

118,

(@ 0

b 1. o)

(c) 2

'(d)'s
| f(x)=1°§—?"‘-*—'°"-
SR x_"-jll-'3x_+2--

‘@) Ropl-g

(b) (-2, =)

(c) R={-1,~9, -3)

(-3, 0=-{-1, -2}
m?ﬂﬁqﬁ*wﬁ mmﬁa&m o
wiom wEmel % wgeEm ot W fem
a*b=“—;,_v_a,bggf.,m o #1
4o AREME |
CHER
i) 2 -

o 3 .

3 A
(C) g ! [t

3 £
(d) 3 y

ax? +bx+c=0, a'x?+b'x+c'=0
& T 3IvFIE T B 1 ¥feey R
(8) (bc’-b’c)? =(ca’~c’a)lab’-a’b)
a‘b)‘2 =(ca’-c’a)(bc’~b’c)

a’b)

(b) (ab’-

() (ca’ —ca) =(bc’~b’c)(ab’~a

(d) 39 & A B 7

p 1 T A1, e fer wfismn
- x2-(p-2x=p+1=0 - i

%t{g—ﬁ%mﬁmﬁﬂw%’f ﬁm
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127. If f(x)=cos|x| and g(x)=sin |x |, then
(a) both fand'g are even functions
(b) both fand g are odd functions

(c) fis an even function and g is an
odd function

(d). fis an odd function and g:is an
even function
128. If
= 3 9
x X
fo=|x x2 1
x2 1

" a I
QL.E{_{}‘,(,-
f f(¥3)i

then the value of f#3is
Yk )

(a) -6 I+ "‘H’\q\;'

(b) 6 ' ) W e

(c) 4 K

¢ ] £33

@ -4 H‘N\M\l) \ ;_iﬁ"f -
'gu"\') U."\} Mo |=q> MW

129. Let R be a relation on a set A and let J A

denote the identity relation on A. Then R
Is antisymmetric, if and only if

) & o ‘@
{a) R=R—1- § ..>\ < el B
- o -1
(b) RUR™'cIy T EY T .Mbﬂatmj{j'_”\)f[«.
o}
© RnRlciy, R T AV - I
. "'Y\ W "Vl\
(d) None of the a}_:_;ov; ol MM

130. If x is the first term of a geometric

progression and the sum of its' infinite

terms is -;:, then x lies in the interval_l

(a) 0<x<i BT
2

(b) ~lex<d
4
1

1
-S<x<=
& 2 2

(d) 0<x<—2-
3

127. 7R f(x)=cos x| 3 g(x)=sin |*  dl

(a) faﬁ(ga:ﬁwmg
(o) f s g 3 fa e &
() 7 e g P ¢
) f @ s e a1 g T 9 e 8

128. afe
1 X x2
f=lx x* 1
x2 1 pd
[ A AR AE R
“ia) =6 :
b) 6
() 4
(@ -4

129. 5 Wifsrg 7 Frelt wg= A W R ©F by 3
T 7 oY 1y, A R s 6y 9@
i R 7@ R Wit &, AR i 3 af

o]
Ay \@) R=RT .
i -30(b) Ru.R"l_q.IA

(c) Rr)R‘lg'IA W
@ TEEAARE
130.#%%3%*3@%19%%;3&13@
mqﬁwm%a,'a}x%m
—
(2) _:0<3_c_<§ Ll .
~lcxel
(b) k. ‘:.4 b

L
(c) 2<x.<2ﬁ

/17-C 34

izas:
d 0 ot
(d) <x<3ﬁ
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n - '
131. If Er =S, |r|<], then 2 r2 s equal

n=0

n=0
to
2
s
a
@) 2s+1
2
() =
2s-1
2s
(c)
32—1
(d) <2

132. The infinite series

1
_+i+l+i+...m'
1P 2P 3P 4P

is convergent, if

(@) p=0

(b) p<ilv

(c) p=1

(d) p>1

133. Which one of the following sequences is

not convergent?

@ (1+-1")
(c) <1+('1)n> S
n . 2‘:’

(d) None of the above

134, If . - A
(1-x+x2)"=ag +alx+02x2+'"+a2n"

2n

then (ag+az +as +---+agy) is equ_‘al to

n_j
@ et o7

2

3" +1
(b) ——

© ——

b —

/17-C

irQnW%

n=0

131, IR Zr" =s, |r|<], [l
n=0

(a)

(b)

132. 3= Aoft :
1 1 1 1
—+t—+—+—+00
1P 2P 3P 4p
vt &, afe
(@ p=0
(b) p<l
(¢ p=1
(d) p>1
133. = 7m 1 A FH-T 0F Afwd T 27

@) (1+607)

o (%) |

© <1+"”n> Lr A
= | .

(d) 3w & A FIE T
134. 3f%

(1-x+x?)" =ag +ayx+agx

2t tagpx?t

T (ag +ag +ag + -+ +ag,) WK R

@ 2L
(b) 3"2+1 i
© 3"2+2 ‘ {
(d) 3”2-2
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] qﬁ %
135. Every subgroup of an Abelian group is | 135. TH 1 e Fl e ST

not -
@) cyclic (0) AT
(b) Abelian (6} 3l
() normal g 0 FHI
(d) ¥ | FE T

(d) None of the above

| . :
136. TR [ xb|? -'.32=1443ﬁ<|al=4€”
136. 1f|axb|2+ [@-b|2 =144 and [d|=4, then R [dxb|“+ [d-b]

Ib| is equal to Ib| TR &

B 13w : (a) 12
(b) 8 R SR k) 8

© 4 (© 4

@ 3 | 5 @ 3

137. IfF x y:+xz;+2yz£ then the value of 137. ‘qﬁ." F= x y: +xz;+2yzk E\;T Fh div curl F

div curl F is (i ;ﬂm% i
(&) O I (a) 0
(b 1 s e
(e 2 © 2
@ 3 a5

A { ey I .
138.If @ and b are constant vectors, then 138. ’Jﬁ a 9 b S Few F, @ v, a,0))

V(7. 4, b]) is equa] o 2 g S oma e
@ 0 o o i i
b @b)7 2T ) b) @b)7
(0) axb _ r"‘\.'-_ i} o axi

@ @xb)F] R o B

/17-C . 36
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139, Sx -
9. The value of (éxad)x@xD) is 139. (¢ xd)x(dxb) % 4H }

@ O
(@) O
(b) B3AD o
(b) [bca]lb
(C) [‘ga’glg ‘,—»—)“’—)
(¢ [cab]e
d) [@b3a ST
(d [@bdla

T I § ;
140. div (r xa), where 3 is a constant vector,

. 140. di - > -
is equal to 40. div (7 xa), el & % 19 WA}, T R

a o (@ O

oG (b) [d]

o (© 7|

@ a7 R
141@&3@13‘%@“%%

141. If ve(;tdfs A aﬁd § are irrotaﬁémal, then
(a) AxB sy &

(b) AxBuferas ‘
(0 A-Byifat

(d) SEHAAM T g

(@) AxB is irrotational
(b) AxB is solenoidal
(c) Z— § _is rotational

(d) None of the above

i : i ’ LR
. A J 7 : _’_ A fe i:
142, The vector |-»r|3’ where 7 =xl+ gj+zk,is | 192 T G o et
P T ST B chieeste il
(a) only solenoidal i : ™
L Vg ' {5}
L (b) Fa@ g , i
(b) only 1rrotat10na} g ) ) piodseyt o it

(c) uwfafaRa ik WL"HT‘! adt.

-0

) both solenoidal and irrotational

(c
(d) neither solenoidal nor irrotational (d @ gieferhia, =@ ST‘{’H"' {:S’I.
37 4 [ PT.O!

/17-C
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S o 5 2 2 -
143. If AxB=CxD and AxC=BxD, then

© vectors Z—B and B-C are
(a) equal
(b)
(c)
(d)

parallel
perpendicular

inclined at an angle of 60°

144. If q, B € are non-coplanar unit vectors

b+c
such that ax(bx¢ == then
Bxd)map
angle between d and b is
3n
(@) —
T
b =
()4
T
c .
(c) 5
@d =

e T .
145. If Y, V», V3 are three non-zero vectors

such that )
- o
Vix¥p= V3, V2><V3 Vl
then
— -
(@) [4l=|V2|
- -
(b) - V2| =V3]
- -
() Ivil=|V3
e
(d V2=VxVy.

146. The equation ﬂ‘=2 represents
z+3| ’

(@)
(b)
()
(d)

a parabola
a hyperbola
a circle

an ellipse

/17-C

the

38,

143. T AxB=CxD X Ax

144, 7R 3, b,

C= §><5,?‘3f’9ﬁ‘""1
A-Da B-C#

() R

(b) HHIH

(c) THIq

d) '60° % IV T A

2 sramaeha @ g akw
Z+E’,aaa»3fﬂ5’$aﬁam
N7

-

c)=

Hxﬁx
nt
u 3n

4

<(8)

(b)

ENPS

(c)

Nja

(d) =

145. 7R W, V5, Vgﬁq@asgwfém'é%

.
[k ‘n )

Li><V2 Vs, V2><V3 ‘i
ﬁr

- —Eafe
(). [vl=|V2l
.[5;-:!%-.f11

- =+
(b) [V2|=|V3]

© [RI=IVal

(a) Th Waew
(b) TF AT —

r“(c)k“@aﬁ:”:'
o (d) T
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147. 1f x,, =cos[ L ]+zsm d , neN, then
2" 2"

li .
n_r)nm(xl X2 X3+ xp)

is

(@ o

(b) -1

(c) 1

(d 2

148, If
Flo)={*% Y+ivx, Y, for z#0

0 , forz=0
x3_.3 3,.3

where u(x,y)— Y 5 v(x,y)=x = 3
x2 +y x +y2

then the value of lim m, along

z-0 2z-0
y=x, will be '
(@) 1-i
1-1i

b) —

(b) 2

() 1+i

1+i
d) —=5
(d) 2

149. If a=co‘sﬁ+isin%7—t, .then the value of
3

)"
@ ()"

(d) (_l)n +1

150. If o(#1) is ¥

2\3n
i 20
value of (1+® (1+o+207)

2 120)%"

(@) 0
(b) 1
(C) w
(d) 0>

/17-C

be root of unity, then the.

39

147. 7fe x,, =cos( d J+1sm( ), neN,
2" A

lim (x]-x9-x3--

"+ Xp)
N—yeo

2

(@) O

(b) -1

() 1

(d) 2
148. 33

_Julx, Yrivix, Y, z20 W
f(z)"{ 0 ,2z=0wW

3
T ulx, y=5"L, v(x.w~hx2+y2, £l

x+y x“+y

N
z-0 i

lim
20

(@) 1-
(b) L=

-A--

_2_
(c) 1+

(d)

149, ‘qﬁa-cos%ﬂsm B, m(l;a] F

H R
@ 1"

1
(b) 2—3; |

_,1)n cr B
(c) (2—3;1—
(d) ()" +1

150. A o (# 1) T F1 TG J, @
(1+ 0?2 +2m)3"—(1+w+2 u?)3"

FHAA R
(@) ©
(b) 1
€ o
(4 o? . -

[ P.T.O.
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